INGROUND & SURFACE
MOUNT MESSAGE CENTER
ASSEMBLY INSTRUCTIONS

/

SURFACE MOUNT INGROUND MOUNT




INGROUND & SURFACE

MOUNT MESSAGE CENTER ]
ASSEMBLY INSTRUCTIONS
A1 ROOF
c» o
—\_; e ~L
1X 4X 1X
MESSAGE CENTER 1/4" X 2-1/2" LAG SCREW POST

1 - SCREW GUN

1-LEVEL 1 - POST HOLE DIGGER N
- GUIDE WIRES
TOOLS REQUIRED
K - A FRIEND TO HELP FOR ASSEMBLY 1/5 /

6X
1/4" FLAT WASHER

(2 ARE FOR SURFACE 2X
MOUNT ONLY) 1/4" X 1-1/2"
LAG SCREW
REQUIRED TOOLS OTHER REQUIRED MATERIALS (FORSURFACE ¢ oo, ~E M iOUNT
(NOT INCLUDED)  FOR INGROUND MOUNTING =~ MOUNTONLY) = p~psjor R E
1-7/16" SOCKET (NOT INCLUDED) MOUNT ONLY)

BAG OF SAKCRETE

Jo




INGROUND & SURFACE

MOUNT MESSAGE CENTER
ASSEMBLY INSTRUCTIONS

STEP #1

Lay message center (A) on a flat clean surface
e Put end post (C) on the bottom of message center (A)

with holes lining up

e Secure with (2) 1/4"x 2-1/2"lag screws (E) and 1/4" flat

washers (D)

NOTE: ORIENTATION OF MESSAGE CENTER MAY DIFFER THAN PICTURE DEPENDING ON MODEL PURCHASED

STE

P #2 (Surface Mount)

With the message center (A) still lying on

the ground, slide the surface mount base (G)
onto the post (C)

Fasten with (2) 1/4" x 1-1/2" lag screws (F)

and flat washers (D)

Stand the assembly upright in desired location
Secure surface mount bases to the ground
(Hardware not included)

MESSAGE CENTER /




INGROUND & SURFACE N
MOUNT MESSAGE CENTER
ASSEMBLY INSTRUCTIONS /Ground

STEP #2-A (INGROUND MOUNT)

 Dig a hole in desired location, approximately
10" in diameter to a depth of 36"
(or to building code / frost line)

36.000

}
|

10.000

STEP #2-B (INGROUND MOUNT)

Place post into hole
GRAVEL * Fill with Sakcrete fo a level about
4" - 6" below ground level
 Use alevel to make sure message
center is square and level
Galvanized e Use guide wire to secure until

_Nails or Sakcrete is dry
Deck

Screws as

|FﬁdTmG anchors

Post in Poured INGROUND
L Concrete Footing INsTrRUCTIONs ]I

Frost Line




INGROUND & SURFACE N
MOUNT MESSAGE CENTER
ASSEMBLY INSTRUCTIONS

FROST LINE
DEPTH
(INCHES)

m > 48"
< 32"-48"

) B N
\ ” \l m 16"-32"
| & 6""1 &u

< 6"

FROST MAP




INGROUND & SURFACE STEP #3 Install the Roof A
MOUNT MESSAGE CENTER Set roof piece (B) onto top of message
ASSEMBLY INSTRUCTIONS s P 0

center (A)

e Fasten 1/4"x 2-1/2"lag screw (E) with 1/4" flat
washer (D) thru message center (A) into roof
piece (B)

 Repeat for the other lag screw (E)

/

ATTACH ROOF
K TO MESSAGE

CENTER 5/5 /




REMOVE GLASS

COVERING

REMOVE GLASS COVERING
Take a razor blade and score as close as possibe to the frame,
cutting the covering

* Inacorner, peel back the the covering using the point of the
knife blade

* Pull the covering off the glass

e Repeat for the other side

Frame edge

Score along thick line
with a razor blade —

Glass covering

Use knife point
to start peeling
in a corner




	COVER
	Drawing View74
	Drawing View75

	PG 1
	Drawing View27
	Drawing View31
	Drawing View33
	Drawing View37
	Drawing View63
	Drawing View65
	Drawing View66
	Drawing View73
	Drawing View76

	PG 2
	Drawing View77
	Detail View R (1 : 9)
	Drawing View79
	Detail View T (1 : 9)

	PG 3
	Drawing View57
	Drawing View69

	PG 4
	PG 5
	Drawing View59
	Drawing View60
	Detail View M (1 : 8)
	Drawing View81
	Drawing View82
	Detail View U (1 : 9)

	COVER(2)
	Drawing View84
	Drawing View85


